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(2) Externalfeatures of monocot plant
(@ found in our home,

Howtodoit:
11 Whe imporiant feature Y carthworms beonuse of whick it is Placed in phylum annelida iz L. Keep the specimer.on the table and carefully observe the
(@) eye ) annuli Teatures of different organs.
© setac (@) ams, 2. Compare the features of specimen with the features
18. These two animals are in sade phylum becanso of given here.
4 - 1. Root: The roots are in a cluster. These roots arise from

the base of the onion bulb. The raots are fibrous and are
hair like/thread like.
Stem: The stem in onion plant is modified stem. Tt is disc
like. It is enclosed by the scale leaves. It froms a bulb.
Stem is underground.
. Leaves: Leaves are long, cylindrical, green, hollow from
inside. The leaves have parallel venation
4. Flower: Pedicel is present, bracts are present, white
coloured and complete.
Androecium (male whorl): It has 6 stamen arranged
in2whorls of8 each. Anthers are long.
Gynoecium (female whorl): Style is short, and stigma
issmall,

»

w

i o i o = “n i Note: Whole plant s eaten as vegetable.
17 b 18 @) i i ) (B) External features of dicot plant

NCERT LAB MANUAL QUESTIONS
1. Name the phyla to which eartlwosm, coslroach, bony fish, and bird belong, &
Ans. Phylum Ammelida—Barthworm

Phylum Arthropoda—Cockroach
Phylum Chordata—Bony fish and bird

2. What is am adaptation?

Ans. Adjustment of an organism that helps it to survive and reproduce better than other organisms in a particular habita
called adaptation.

& In which body segments of an earthworm, i the elitellum found?
Ans. Segments-14% 15% anq 16%
* How docs a cockroach adapt iteelf o a wide range of habitats?
Ans. I can change its body temperature according the surroundin
5. Mention two adaptive characters ofa

Ans. (i) Seales on body,
(i) Seeretion o

5. 1t feeds on variety of food materials,
bony fish bosides the possession of a stresmlined body and air bladder.

 fluid to protect the body scales.
& Feathers are an adaptive foature of birds, How are they helpful to them?

‘Tostudy the external features (morphology) of root, stem, leaf and flower of monocot and dicot plants.

Fresh specimen or preserved specimens of monoeot plant-onion plant, and dicot plant mustard plant.

e . il How todoit:
Ans, T Sap the i in betwveen them. Therefore, it provides an insulation by not allowing the body heat to escape from the 3 Keep the specimen on the table and carefilly observe the features of ifferent organs.
ody of the bird. o 2. Compare the features of specimen with the features given here.
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[image: image2.jpg]- Root:Tap root system. The main root is present and it has lateral branches - secondary and tertiary.
. Stem: Stem is erect, hard, branched and green in colour.
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4. Flower: Flowers are bright pale yellow with four free potals

Other monocot plants are-rice, wheat, grass, maize, sugar cane, etc.

Other dicot plants are—gram, pea, bean, etc.

Q.<> VOCE OCRH.OZ@

Q1. Whatis the study of external features of organisms called?
Ans. Morphology.
Q2. How are monocot plant roots different from dicot plant roots?
Ans. Monocot plant roots are in cluster and fibrous.
Q8. Name the venation of dicot leaves.
Ans. Reticulate venation.
Q4. How many cotyledons does arice seed have?
Ans. One.
@5. Ifaloathas parallel venation, itis aleafof ..
“Ans. Monocot.
Q6. Why a grass plant is monocot?
Ans. Becausoit has features of a monocot plant.
Q7. Shashank collected two cotyledonous seeds, one of these is incorrect find out.
Rice, Pea, Bean, Tamarind
Ans. Rice.
98. What does the term angiosperm mean?
Ans. Angio-enclosed, sperm ~seed.
Q9. The leaves of onion ar
«Ans. Green, cylindrical and hollow
Q10. Which type of stem is found in onion plant?
Ans. Underground, dise shaped.

-plant.

1. Swatihaslisted following features of a plant. Which feature is incorroct about the plant?
(@) Ithasafibrous roots (b) Two cotyledonous seeds
(©) Lgaves arelong, ribbons shaped (@ Stemisweak.

2. Shashank noted following foatures of a plant.
) THerootis taproot sysiem.

Broad leaves, reticalate venation.

Strong stem.
! Which type of plant it is?
(a) Monocot ®) Dicot
(©) Monocotand dicot (@) Anyplant.

8- These are drawing of leaves of plants, Which leaf belongs to monocot plant?

(o

1 )
) ) © @)

“)
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5. Which stadent has labelled the figare correctly.

Stem
Loaves
Rools
3. Shanu
© 3
4. (e} 5. (a)
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